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1-Lesson I8
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Draw a tape diagram to represent each problem. Use numbers to solve, and write your answer as a

statement.

1. Bridget wrote down three numbers. The first number was 7,401. The second number was 4,610 less
than the first. The third number was 2, 842 greater than the second. What is the sum of her numbers?
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The sum of Bridget’s numbers is 15, 825, ’ number.
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2. Mrs. Sample sold a total of 43,210 pounds of mulch. She sold 13,305 pounds of cherry mulch. She sold
4,617 more pounds of birch mulch than cherry. The rest of the mulch sold was maple. How many
pounds of maple mulch were sold?
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total, but I don’t know one of
the parts.
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Lesson 18:

Solve multi-step word problems modeled with tape diggrams, and assess

the reasonableness of answers using rounding.
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tape for the maple mulch
should be, so | estimate.

M=43 210312377
M=11,983

11,983 pounds of maple mulch were soid. G




